BAF 3MP - Financial Accounting Fundamentals

Unit 7: Internal Controls and Financial Analysis

Activity 5: Financial Analysis

1.  Who uses financial analysis?
2. Describe trend analysis.  How can the data be presented?
3. Fill in the blanks
	The Woodstove Company

	Selected Income Statement Data

	For the years ended December 31, 20-2, 20-1

	 
	 
	 
	 
	 

	 
	 
	 
	 
	 

	 
	20-0
	20-1
	20-2
	 

	Sales
	284,100
	310,700
	_______
	 

	Cost of Goods Sold
	122,500
	________
	143,100
	 

	Gross Profit
	_______
	177,400
	232,200
	 

	 
	 
	 
	 
	 

	 
	 
	 
	 
	 

	 
	20-0
	20-1
	20-2
	 

	 
	 
	 
	 
	 

	Sales
	100%
	109%
	____%
	 

	Cost of Goods Sold
	100%
	_____
	117%
	 

	Gross Profit
	____%
	110%
	144%
	


4. How is gross profit calculated in year 20-0?
5. How is cost of goods sold calculated for year 20-1?
6. How is sales calculated for year 20-2?
7. How is the percentage for gross profit for year 20-0, the cost of goods sold for 20-1 and the sales for 20-2 calculated?  *Hint:  Year 20-0 is your BASE YEAR.
8. What are comparative financial statements (horizontal) also called?  How are they calculated?  How are increases and decreases calculated?
9. Is a decrease in an expense good or bad?

10. Fill in the blanks:
	The Woodstove Company

	Comparative Balance Sheet

	For the years ended December 31, 20-2, 20-1

	 
	 
	 
	 
	 

	 
	 
	 
	Increase (+) Decrease (-)

	 
	20-2
	20-1
	       $'s
	        %

	 
	 
	 
	 
	 

	 
	Assets
	 
	 
	 

	Current Assets
	 
	 
	 
	 

	Cash
	14,700
	_______
	-3,900
	-21.0%

	Accounts Receivable
	16,400
	19,100
	______
	-14.1%

	Inventory
	46,700
	23,000
	______
	_______

	Prepaid Expenses
	2,300
	2,200
	100
	4.5%

	Total Current Assets
	______
	62,900
	_______
	_______

	 
	 
	 
	 
	 

	Capital Equipment
	 
	 
	 
	 

	Office Equipment
	11,900
	______
	3,100
	______%

	Vehicles
	25,000
	18,000
	______
	38.9%

	Land
	50,000
	50,000
	_______
	0.0%

	Building
	120,000
	120,000
	0
	0.0%

	Total Capital Equipment
	_______
	196,800
	10,100
	5.1%

	 
	 
	 
	 
	 

	Total Assets
	287,000
	________
	27,300
	______%

	 
	 
	 
	 
	 

	 
	Liabilities
	 
	 

	Current Liabilities
	 
	 
	 
	 

	Demand Bank Loan
	28,400
	25,400
	3,000
	______%

	Accounts Payable
	9,700
	6,400
	3,300
	51.6%

	Total Current Liabilities
	_____
	31,800
	______
	_____%

	Long-Term Liabilities
	 
	 
	 
	 

	Long-term Bank Loan
	47,700
	0
	47,700
	100.0%

	Mortgage Payable
	54,000
	60,000
	-6,000
	-10.0%

	Total Long-Term Liabilities
	101,700
	60,000
	41,700
	69.5%

	 
	 
	 
	 
	 

	Total Liabilities
	______
	91,800
	______
	___%

	 
	 
	 
	 
	 

	 
	Owner's Equity
	 
	 

	E. Freeman, Capital
	147,200
	167,900
	_______
	-12.3%

	 
	 
	 
	 
	 

	Total Liabilities and Owner's Equity
	287,000
	259,700
	_______
	10.5%


	The Woodstove Company

	

	

	Comparative Income Statement

	For the years ended December 31, 20-2, 20-1

	 
	 
	 
	 
	 

	 
	 
	 
	Increase (+) Decrease (-)

	 
	20-2
	20-1
	    $'s
	%

	Revenue
	 
	 
	 
	 

	Sales
	378,400
	312,900
	_______
	______%

	Sales Returns and Allowances
	3,100
	2,200
	900
	40.9%

	Net Sales
	375,300
	310,700
	_______
	______%

	 
	 
	 
	 
	 

	Cost of Goods Sold
	 
	 
	 
	 

	Inventory January 1
	23,000
	22,100
	900
	4.1%

	Net Purchases
	166,800
	134,200
	32,600
	24.3%

	Cost of Goods for Sale
	189,800
	156,300
	33,500
	21.4%

	Inventory December 31
	46,700
	23,000
	23,700
	103.0%

	Cost of Goods Sold
	143,100
	133,300
	9,800
	7.4%

	Gross Profit
	232,200
	177,400
	54,800
	30.9%

	 
	 
	 
	 
	 

	Operating Expenses
	 
	 
	 
	 

	Advertising
	37,200
	19,870
	______
	_______%

	Wages and Salaries
	139,180
	106,680
	32,500
	30.5%

	Auto expense
	5,760
	5,540
	220
	4.0%

	Depreciation
	1,800
	1,650
	150
	9.1%

	Telephone
	2,610
	2,420
	190
	7.9%

	Utilities
	2,780
	2,640
	140
	5.3%

	Insurance
	2,970
	2,210
	760
	34.4%

	Interest & Bank Charges
	11,100
	8,590
	2,510
	29.2%

	Total Operating Expenses
	203,400
	149,600
	______
	_____%


An analysis of The Woodstove Company financial statement shows several exceptional items that should be investigated.

1. The inventory at the end of the current year has increased substantially. While sales have increased by 21%, inventory has increased by 103%. Accounts payable has also increased by 52%.This high level of inventory may be a problem. It may be due to overbuying, keeping too much stock on hand or increasing prices. If the increase is due to purchasing of goods at a discounted price, then a temporary high level of inventory may be acceptable.

2. ________________________________________________________________________________________________________________________________________________________________________
3. The company has invested in capital assets and is showing an increase in both office equipment and vehicles. These investments have resulted in a higher bank loan.

4. _______________________________________________________________________________________________________________________
5. A reduction in the inventory levels will help the company reduce the bank loan and decrease interest charges.

6. The company has spent quite a bit more money on advertising. While the additional advertising may have resulted in additional sales, there may be overspending. The company might consider trying to reduce this advertising expense in the next year.

7. ____________________________________________________________________________________________________________________________________________________________________________________
8. Insurance costs have increased. This increase may be due to the purchase of a new vehicle. The insurance bills should be reviewed to verify this.

9. Interest expense is up substantially. As the bank loan has increased, so have interest costs.

Check Your Understanding:
1. Here are some expenses from an income statement. Calculate the shaded cells.

	 
	20-2
	20-1
	Increase or Decrease
	Change in %

	Rent expense
	27,000
	18,000
	 
	 

	Salaries
	76,900
	54,700
	 
	 


2. What is a situation that could explain both these increases?
10.  What do common-size analysis (vertical) calculate?  How are they calculated?
11. What is the basis of comparison?
	The Woodstove Company

	Comparative Income Statement

	For the years ended December 31, 20-2, 20-1

	 
	 
	 
	 
	 
	

	 
	 
	 
	 
	 
	

	 
	20-2
	Percentage
	20-1
	Percentage
	

	Sales
	$375,300
	100%
	$310,700
	100%
	

	Cost of Goods Sold
	143,100
	38%
	133,300
	43%
	

	Gross Profit
	232,200
	62%
	177,400
	57%
	

	Operating Expenses
	203,400
	54%
	149,600
	48%
	

	Net Income
	$28,800
	8%
	$27,800
	9%
	

	 
	 
	 
	 
	 
	


Analysis of common-size income statement
1. Now when you consider the common-size statements, we can see that _________ has actually ___________  as a percentage of ____________. The gross profit is ___________ but the operating expenses have ____________ and caused net income to decrease as a percentage of __________.

2. A review of the operating expense detail from the previous page would help indicate which expenses have _____________. The higher operating _______________ are probably due to higher wages and _____________ expense. Management should review their ________________ in these areas. Also interest costs are up due to a higher debt load.

Here is a condensed version of the balance sheet using ______________________ percentages. In this example, ____________ Assets and ___________ Assets have been divided by _____________ Assets to calculate their percentages. The __________ process was used, dividing all types of Liabilities and Shareholders' Equity accounts by the Total Liabilities and Shareholders' Equity. 

Total __________ and Total Liabilities and Owner’s Equity are the __________ factors.

	The Woodstove Company

	Comparative Balance Sheet

	For the years ended December 31, 20-2, 20-1

	 
	 
	 
	 
	 

	 
	20-2
	 
	20-1
	 

	 
	 
	 
	 
	 

	 
	Assets
	Percentage
	 
	Percentage

	Current Assets
	80,100
	27.9%
	62,900
	24.2%

	Capital Equipment
	206,900
	72.1%
	196,800
	75.8%

	Total Assets
	287,000
	100.0%
	259,700
	100.0%

	 
	 
	 
	 
	 

	 
	Liabilities
	Liabilities

	Current Liabilities
	38,100
	13.3%
	31,800
	12.2%

	Long-Term Liabilities
	101,700
	35.4%
	60,000
	23.1%

	Total Liabilities
	139,800
	48.7%
	91,800
	35.3%

	 
	 
	 
	 
	 

	 
	Owner's Equity
	 
	 

	E. Freeman, Capital
	147,200
	51.3%
	167,900
	64.7%

	 
	 
	 
	 
	 

	Total Liabilities and Owner's Equity
	287,000
	100.0%
	259,700
	100.0%

	 
	 
	 
	 
	 


Analysis of common-size balance sheet
1. This common-size balance sheet indicates that this business has much more long-term ____________  to pay versus the ___________ year. Long-term liabilities are ________% of the total liabilities and owner’s equity.

2. Another point to note is that the owner’s share in the company has ______________ from 64.7% to ____________%.

Check Your Understanding Questions
1. This is a condensed income statement for two different companies – Company A and Company B.  Complete the common-size calculation for both companies in the shaded cells.

	Common-Size Comparative Income Statement
For the years ended December 31, 20-6, 20-5

	 
	Company A
	%
	Company B
	%

	 
	 
	 
	 
	 

	Sales
	100,000
	 
	75,000
	 

	Cost of Goods Sold
	39,000
	 
	41,200
	 

	Gross Profit
	61,000
	 
	33,800
	 

	Operating Expenses
	36,000
	 
	10,800
	 

	Net Income
	25,000
	 
	23,000
	 


Answer the following questions using the Income Statements from Question 3. 

1. Which is the more profitable company in terms of dollars?
2. Which is the more profitable company in terms of percentages?
3. Which company would you prefer to own?  Why?
